(A) MA, all (B) MA, non—Arri (C) MA, non—Pagani

9.38

8.44

Pop5b Pop5

Pop5b Pop5
Pop5b Pop5

Pop5b Pop5 Pop5b Pop5 Pop5b Pop5 75
(A) RN, all (B) RN, non—Axri (C) RN, non—Pagani

6.57

5.63

Pop5b Pop5
Pop5b Pop5

Pop5b Pop5

Pop5b Pop5 Pop5b Pop5 Pop5b Pop5
(A) RN+BN, all (B) RN+BN, non—Ari (C) RN+BN, non—Pagani

4.69

3.75

2.81

Pop5b Pop5
Pop5b Pop5

Pop5b Pop5

Pop5b Pop5 Pop5b Pop5 Pop5b Pop5
(A) RN+BN+80%, all (B) RN+BN+80%, non—Ari (C) RN+BN+80%, non-Pagani 1.88

0.94

Pop5b Pop5
Pop5b Pop5
Pop5b Pop5
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Pop5b Pop5 Pop5b Pop5 Pop5b Pop5



